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1.
int main()
{
printf("\100 \x10 C\n");
printf("I say:\"How are you?\"\n");
printf("\\C Program\\\n");
printf("\'CodeBlocks\"");
return 0;
}
2,
int main()
{
int a=3,b=4;
printf("%d %d\n",a,b);
printf("a=%d , b=%d\n",a,b);
return O;
H
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1. F8H HFSOE N R P B R

int main()

{

intx=1,s;

while(x<=10)



s+=X;
}
printf("s=%d\n",s);
return 0;

}
2. fi HIFESOE R TR PR B A R

int main()
{
int m=1,n=234;
do{
m*=n%10;
n/=10;
}while(n)

printf("m=%d\n",m);

return 0;

WO, FEFpsEa (45 178, 3630 7))

1. HUUTFREFB:

int main()

{
int a;
char ch;

scanf("%d%?2c",&a,&ch);
printf("%d,%c\n",a,ch);
return 0;

}
WS a MME N 10, ch FMEN A, NEARS A o
2. B T AR BUR 78 e

int main()

{



int num;

char ch="#; //5€ X FFFHIAZ & ch, FFIKWIES

scanf(‘“%d”.&num); /HIAZEE num KIME

printf("ch = %c\n",ch);
printf("num = %d\n",num)

return 0;
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